1. (6 pts) Given the following semi-annual profit data for your firm (in millions of dollars) over the last
three years.
a. (4 pts) Use a centered difference to find the Ioca_l.liﬁ_aﬁMea_rs(in point-siope form).
b. (2 pts) Plot the data, and your local linearization function (use a straight-edge).
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1. (6 pts) Given the following semi-annual profit data for your firm (in millions of dollars) over the last

three years.

a. (4 pts) Use a centered difference to find the local linearization at 2 s (in point-slope form).- .

b. (2 pts) Plot the data, and your local linearization function (use a straight
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MAT128, Quiz 5 -- Spring, 2024

Name:

1. (6 pts) Given the following semi-annual profit data for your firm (in millions of dollars) overthelast

three years.
a. (4 pts) Use a centered difference to find the local linearization at 2 years (ln point-slope form).
b. (2 pts) Plot the data, and your local linearization function (useas-télg-hfa!gal_\hh_ A
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2. (2 pts) Use your local linearization to estimate the profits (losses, actually) at year 1.75. Do you
suspect that this is an over- or under-estimate? Why?
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Q]""’“ 3}2 pts) We can use the local linearization to estimate the moment when our firm crossed from losses

to profits. Solve the local linearization for the t intersection, and so estimate the time at which the
transition occurred.
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